Dtree179

ROOTapple

MESPs07ger

-BREVs10bra

I:SAL Is13sal
-SALIs14sal

SANGs02wil
_ESANG523nig

-DOUGs15suk
_EDOUGSZ4suk

———MACRsO7cal

-COCCs05pun
4'__|:coc<:sogcm
— COCCs22tri

-COCCs08opa

concordance = 0.75

Dtree5

ROOTapple

MESPs07ger

-BREVs10bra

SALIs13sal
-SALls14sal

SANGs02wil
-SANGs23nig
-DOUGs15suk
-DOUGs24suk
COCCs22tri
COCCs09cru

COCCs05pun

-MACRs01cal
COCCs08opa

el

concordance = 0.719

Dtree254

ROOTapple

MESPs07ger

-BREVs10bra

SALIs13sal
SALIs14sal

SANGs02wil
-SANGs23nig
-DOUGs15suk
-DOUGs24suk
-COCCs22tri

OCCs05pun
-COCCs09cru
-MACRs01cal
COCCs08opa

Eilisy

concordance = 0.719

Tree179

MESPs07ger

BREVs10bra

OUGs15suk
OUGs19dou4x
OUGs24suk
OUGs03dou4x

OUGs16dou3x
-SANGs02wil
_ESANGSZSnig
OCCs08opa
OCCs09cru
OCCs22tri
OCCs05pun
OCCs06¢chrdx

OCCs17chrdx

T &

ROOTapple

concordance = 0.418

Tree5

—COCCs06¢chr4x
—

REVs10bra
ESPs07ger
EgOCCSOQCru
OCCs05pun
OCCs22tri
OCCs08opa
OCCs17chrdx

OUGs03dou4x
OUGs24suk
OUGs15suk
OUGs19dou4x
OUGs16dou3x
ANGs02wil
ANGs23nig

ROOTapple

concordance = 0.349

Tree254

MESPs07ger

BREVs10bra

DOUGs24suk

OCCs22tri
OCCs17chrdx
OUGs03dou4x
OUGs15suk
OUGs19doudx
OUGs16dou3x

-SANGs02wil
ANGs23nig
OCCs09cru
OCCs05pun
OCCs08opa

OCCs06chrdx

S =

—
1

ROOTapple

concordance = 0.287



Dtree198

ROOTapple

MESPs07ger

-BREVs10bra

SALIs13sal
-SALIs14sal
-DOUGs15suk

SANGs02wil
SANGs23nig
-DOUGs24suk
COCCs22tri
-MACRsO1cal

COCCs05pun
-COCCs09cru
-COCCs08opa

Llbd

concordance = 0.698

Dtree233

ROOTapple

MESPs07ger

-BREVs10bra

SALIs13sal
-SALls14sal
-DOUGs15suk

SANGs02wil
SANGs23nig

-DOUGs24suk
COCCs22tri
COCCs09cru

COCCs05pun

-MACRsO01cal
COCCs08opa

gl

concordance = 0.677

Dtree17

ROOTapple

MESPs07ger

BREVs10bra

SANGsO02wil
ESANGSZSHIQ

SALIs13sal
SALIs14sal
-DOUGs15suk
-DOUGs24suk
-COCCs09cru
-COCCs05pun

!

-COCCs22tri
-MACRsO01cal
COCCs08opa

concordance = 0.667

Tree198

MESPs07ger

BREVs10bra

———————————DOUGs19dou4x
OCCs22tri
OCCs09cru
OCCs08opa

OCCs05pun

OCCs06¢chrax

ESOCCS17chr4><
OUGs16dou3x

DOUGs15suk
OUGs03dou4x
OUGs24suk

-SANGs02wil

ANGs23nig

ROOTapple

concordance = 0.51

Tree233

MESPs07ger

BREVs10bra

OCCs06¢chrax
OCCs09cru
OCCs05pun

E((;OCCsOSopa
OCCs17chrdx
ESOCCSZZtn
OUGs03dou4x

—DOUGs19doudx

-DOUGs16dou3x

OUGs24suk
-SANGs02wil
ANGs23nig

OUGs15suk

ROOTapple

concordance = 0.605

Tree17

MESPs07ger

BREVs10bra
—COCCs09cru

LCOCCs05pun
OCCs08opa

OCCs06chr4x
OCCs22tri
OCCs17chrdx

OUGs16dou3x

-SANGs02wil
ANGs23nig
OUGs19doudx
OUGs03doudx
OUGs24suk
OUGs15suk

ROOTapple

concordance = 0.314



Dtree121

ROOTapple
MESPs07ger

-BREVs10bra

SALIs13sal
-SALIs14sal
-DOUGs15suk
SANGs02wil
SANGs23nig
-DOUGs24suk
COCCs22tri
-MACRs01cal
COCCs05pun
-COCCs09cru
-COCCs08opa

1]

concordance = 0.667

Dtree127

ROOTapple
MESPs07ger

-BREVs10bra

——SANGs02wil
-SALls14sal
SALIs13sal
L -SANGs23nig

I:DOUGS 15suk

-DOUGs24suk
COCCs09cru

—ECOCCSO5pun
-COCCs22tri

-MACRs01cal
COCCs08opa

concordance = 0.646

Dtree63

ROOTapple
MESPs07ger

-BREVs10bra

-SANGs23nig
SANGs02wil
SALIs13sal
SALIs14sal
-DOUGs15suk
-DOUGs24suk
-COCCs09cru
-COCCs05pun
-COCCs22tri

Yol

-MACRsO01cal
COCCs08opa

concordance = 0.635

Tree121

MESPs07ger

BREVs10bra

OCCs06chrax
OCCs05pun
OCCs09cru

OCCs08opa

4l

OCCs22tri
OCCs17chrdx

ANGs23nig

OUGs03doudx

Ioe]

OUGs16dou3x

OUGs24suk
ANGs02wil
OUGs19doudx
OUGs15suk

ROOTapple

concordance = 0.506

Tree127

BREVs10bra

LMESPs07ger

-SANGs02wil
OUGs19dou4x
OUGs15suk
OUGs24suk
OUGs16dou3x

OCCs17chrdx

OCCs05pun
OCCs06chrdx

OCCs09cru

OCCs22tri
OCCs08opa

OUGs03dou4x
ANGs23nig

ol

ROOTapple

concordance = 0.169

Tree63

MESPs07ger

BREVs10bra

OUGs19dou4x
OUGs03dou4x
OCCs08opa
OCCs22tri
OCCs06¢chrdx

OCCs09cru

OCCs05pun
OCCs17chrdx
OUGs16dou3x

i B

'—SANGS23nig
ANGs02wil

S,

OUGs24suk
OUGs15suk

ROOTapple

concordance = 0.46



Dtree90

ROOTapple
MESPs07ger

BRE

-BREVs10bra
SALIs13sal
_ESALIsMsaI
SANGs02wil
_ESANG523nig
-DOUGs15suk
4EDOUGSZ4SU}(
COCCs09cru
-COCCs05pun
-COCCs22tri

-MACRsO1cal
COCCs08opa

concordance = 0.635

Dtree95

ROOTapple
MESPs07ger

-BREVs10bra

SALIs13sal
_ESALIsMsaI

SANGs02wil
_ESANGSQSnig

-DOUGs15suk

4|:DOUGS24suk
COCCs22tri
-COCCs05pun
-COCCs09cru

-MACRs01cal
COCCs08opa

concordance = 0.635

Dtree129

ROOTapple
MESPs07ger

-BREVs10bra
SALIs13sal
_ESALIsMsaI
SANGs02wil
_ESANGSQSnig
-DOUGs15suk
4|:DOUGS24suk
-COCCs22tri

COCCs09cru
COCCs05pun

-MACRsO1cal
COCCs08opa

concordance = 0.635

Tree90

MESPs07ger

BREVs10bra

———————COCCs09cru

—
L—COCCs22tri
OCCs06chrdx
OCCs17chrdx
OCCs05pun

OCCs08opa
-SANGs02wil
ANGs23nig

OUGs03dou4x

OUGs19doudx
OUGs24suk
OUGs15suk
OUGs16dou3x

ROOTapple

concordance = 0.49

Tree95

MESPs07ger

BREVs10bra

I:(:OCCsOSopa

OCCs22tri

OCCs09cru

OCCs05pun
OCCs06¢chrdx

53

OCCs17chrdx
OUGs03dou4x
OUGs24suk
OUGs15suk
OUGs19dou4x

OUGs16dou3x
ANGs02wil
ANGs23nig

A

ROOTapple

concordance = 0.713

Tree129

—BREVs10bra

LMESPs07ger

OUGs03dou4x
OCCs22tri
OCCs08opa
OCCs09cru
OCCs05pun

OCCs06¢chrax

OCCs17chrdx
OUGs16dou3x

HOUGS‘IQdOu&(
EBOUGSZ4SUK
OUGs15suk

ANGs02wil

ANGs23nig

ROOTapple

concordance = 0.207



Dtree232

ROOTapple

MESPs07ger

-BREVs10bra

_ESAL Is13sal
-SALIs14sal

SANGs02wil

_ESANG523nig
-DOUGs15suk
4|:DOUGSZ4suk
-COCCs05pun

-COCCs09cru

-COCCs22tri
-MACRsO1cal
-COCCs08opa

concordance = 0.635

Dtree237

ROOTapple

MESPs07ger

-BREVs10bra

-MACRsO1cal
ESALIS13saI
SALIs14sal

SANGs02wil
SANGs23nig
-DOUGs15suk
-DOUGs24suk
-COCCs05pun

-COCCs09cru
_ECOCCSZZ!N
COCCs08opa

concordance = 0.625

Dtree22

ROOTapple

MESPs07ger

-BREVs10bra

SANGsO02wil
SALIs14sal

SALIs13sal
-SANGs23nig
-DOUGs15suk
-DOUGs24suk
-COCCs09cru
-COCCs05pun

-COCCs22tri

-MACRsO01cal
COCCs08opa

concordance = 0.615

Tree232

MESPs07ger

BREVs10bra

OUGs24suk
OUGs15suk
OUGs19doudx
OUGs16dou3x
ANGs02wil
ANGs23nig
OCCs05pun

I

OUGs03dou4x
OCCs08opa

OCCs09cru
OCCs22tri

OCCs06chrdx
OCCs17chrdx

P

ROOTapple

concordance = 0.395

Tree237

MESPs07ger

OCCs09cru

BREVs10bra
OCCs06¢chrax

ANGs02wil
OUGs03doudx
OUGs24suk
OUGs15suk
OUGs19doudx
OUGs16dou3x
ANGs23nig
OCCs08opa
OCCs05pun

Al

OCCs17chrdx
OCCs22tri

<Al

ROOTapple

concordance = 0.303

Tree22

MESPs07ger

BREVs10bra

OCCs05pun
OCCs22tri

OCCs06chrdx

OCCs08opa
OCCs09cru

Al

OCCs17chrdx
ANGs02wil
OUGs03dou4x

OUGs24suk
OUGs19doudx

ANGs23nig
OUGs15suk

OUGs16dou3x

ALt

ROOTapple

concordance = 0.192



Dtree58

ROOTapple

MESPs07ger

BREVs10bra
SALIs13sal

SANGs23nig
SALIs14sal
-DOUGs15suk
-DOUGs24suk
COCCs22tri
-COCCs05pun
COCCs09cru

-MACRsO1cal

ESANGSOZW//
-COCCs08opa

concordance = 0.615

Dtree222

ROOTapple

MESPs07ger

-BREVs10bra

SALIs13sal
-SALls14sal

SANGs23nig
-DOUGs15suk
-DOUGs24suk
-SANGs02wil

o

-MACRsO01cal
— COCCs22tri
-COCCs09cru
COCCs05pun
COCCs08opa

concordance = 0.615

Dtree91

ROOTapple

MESPs07ger

-BREVs10bra

-COCCs22tri

I—SAN Gs02wil
I:SAL/S 13sal

SALIs14sal

SANGs23nig
_|__|:DOUGS155uk
-DOUGSs24suk

COCCs09cru
_EMA CRs01cal
COCCs05pun
_ECOCCSO8opa

concordance = 0.594

Tree58

MESPs07ger

BREVs10bra

OCCs08opa
-SANGs02wil

OCCs22tri
OCCs06chrdx
———COCCs17chr4x
OCCs09cru
OCCs05pun

——

OUGs15suk
ANGs23nig
OUGs03dou4x
OUGs24suk
OUGs19dou4x
OUGs16dou3x

ROOTapple

concordance = 0.215

Tree222

MESPs07ger

BREVs10bra

OCCs17chrdx

-SANGs02wil
OCCs08opa

OCCs22tri
OCCs09cru
OCCs05pun

OUGs24suk
OUGs15suk
OUGs19doudx

OCCs06chrdx
OUGs03dou4x
ANGs23nig

OUGs16dou3x

ROOTapple

concordance = 0.475

Tree91

MESPs07ger

BREVs10bra

—
L-SANGs02wil

EgOCCsOBopa
OCCs05pun

OCCs09cru
- OCCs22tri

|| ‘I_EZOCCSOGCW“
OCCs17chrdx
——DOUGs03dou4x

——C

] OUGs24suk
OUGs15suk
OUGs19dou4x
OUGs16dou3x
ANGs23nig

ROOTapple

concordance = 0.582



Dtree208

ROOTapple

-BREVs10bra

Tree208

REVs10bra
OUGs19doudx

concordance = 0.573

MESPs07ger

SANGs02wil

OUGs24suk
OCCs17chrdx

e

-DOUGs15suk

ESPs07ger

SALIs14sal
SALIs13sal
-DOUGs24suk
I:COCCSOchu
-COCCs05pun
-MACRsO1cal

COCCs22tri
-COCCs08opa

-SANGs02wil
L SaANGs23nig
OUGs15suk
OUGs03dou4x
OUGs16dou3x
OCCs22tri

OCCs06chrdx

OCCs08opa
OCCs09cru
OCCs05pun

ROOTapple

concordance = 0.352
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